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MATRICES 

TRANSPOSE OF A MATRIX 

EXERCISE 

 

Q.1  Verify that (AB)' = B'A' for A =

2

4

5

 
 
 
  

 and B = [1 3  – 6]. 

Q.2 If A = 








 21

21
 and B = 









 22

43
 , find the transpose of the product (AB)T  

 (A) 












65

211
    (B) 









 62

511
   

 (C) 








 80

17
    (D) 









 81

07
 

Q.3 If A and B are matrices of order m × n and n × m respectively, what is the order of 

the matrix BT (AT)T . 

 (A) m × n (B) m × m  (C) n × n  (D) Not defined 

Q.4 If A, B, C, are three matrices, what does AT + BT + CT equal to? 

 (A) zero matrix    (B) A + B + C  

 (C) – (A + B+ C)    (D) (A + B + C)T 

Q.5 If A = 








41

23
  and B = 













11

21
, which statement is correct? 

 (A) AB = BA    (B) AAT = A2  

 (C) AB = B2    (D) None of these 
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Q.6 If A= 












cossin

sincos
, what is the value of AAT. 

 (A) 












2cos2sin

2sin2cos
    (B) 
















22

22

cossin

sincos
 

 (C) 








10

01
    (D) 









00

00
 

Q.7 If A = 








ab

ba
, what is the determinant of |A +AT|. 

 (A) 4(a2 – b2)    (B) 2(a2 – b2)  

 (C) a2 – b2     (D) 4 ab 

Q.8 Identify the false statement for suitable matrices A, B.  

 (A) (AB)T =ATBT    (B) (AT)T= A 

 (C) (A – B)T = AT – BT   (D) (AT)–1 = (A–1 )T 

Q.9 If A = 








543

432
, B =

















31

12

43

, what is the transpose of the product (AB) 

 (A) 








3123

2216
    (B) 









3122

2316
  

 (C) 








3016

3122
    (D) 









2031

1623
 

Q.10 If A = 








0y

x3
 and A = AT, then - 

 (A) x = 0, y = 3    (B) x + y = 3 

 (C) x = y     (D) x = – y 
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Q.11 If A = 












cossin

sincos
, what is the result of AA’  

 (A) I  (B) A   (C) A   (D) 0 

Q.12 If A is a matrix of order 3 × 4, then both ABT and BTA are defined if order of B is - 

 (A) 3 × 3  (B) 4 × 4  (C) 4 × 3  (D) 3 × 4 

 

ANSWER KEY 

2. (C) 

3. (D) 

4. (D) 

5. (D) 

6. (C) 

7. (A) 

8. (A) 

9. (A) 

10. (C) 

11. (A) 

12. (D) 


